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QUESTION 1

What is the compression algorithm used by vSphere Replication to compress data at the source? 

A. FastLZ 

B. Lz4 

C. Lzr 

D. Lzx 

Correct Answer: A 

vSphere Replication 6.0 utilizes the FastLZ compression library. This provides a nice balance of speed, minimal CPU
overhead, and compression efficiency. When using vSphere 6.0 and vSphere Replication 6.0 at both the source and
target locations, updates are compressed at the source and stay compressed until they are written to storage at the
target. In cases where there is a mixed configuration, packets may be decompressed at some point in the replication
path. For example, if a vSphere 6.0 host is connecting to a vSphere Replication 5.8 virtual appliance, packets will not be
compressed over the network. Another example: vSphere 6.0 replicating to a vSphere Replication 6.0 virtual appliance,
which is writing to vSphere 5.5 host storage - packets are compressed from the source to the vSphere Replication 6.0
?rtual appliance, but are decompressed in the appliance before being written to the vSphere 5.5 storage at the target.
Performing this decompression in the vSphere Replication virtual appliance will cause higher vCPU utilization in the
appliance. As you can imagine, the most benefit from compression will be realized when running vSphere 6.0 and
vSphere Replication 

6.0 at both the source and target locations. 

Reference: http://blogs.vmware.com/vsphere/2015/03/vr-60-compression.html 

 

QUESTION 2

An administrator is configuring an identity source for Single Sign-On. The administrator will use the machine that Single
Sign-On is running on, but does not want all users on the machine to be visibile to SSO. Which Identity Source meets
this requirement? 

A. Active Directory (Integrated Windows Authentication) 

B. Active Directory as an LDAP Service 

C. OpenLDAP 

D. LocalOS 

Correct Answer: A 

 

QUESTION 3

Vmware vSphere Replication protects virtual machines from partial or complete site failures by replicating the virtual
machines between which three sites? (Choose three.) 
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A. From a source site to a target site. 

B. From within a single site from one cluster to another. 

C. From multiple source sites to a shared remote target site. 

D. From a single source site to multiple remote target sites. 

E. From multiple source sites to multiple remote target sites. 

Correct Answer: ABC 

vSphere Replication replaces storage-based replication. It protects virtual machines from partial or complete site failures
by replicating the virtual machines from a primary site to a secondary site. Reference:
https://pubs.vmware.com/vsphere-51/index.jsp?topic= %2Fcom.vmware.vsphere.replication_admin.doc%2FGUID-
C987AD18-7C2D-4FA6- B6E4-6B0DDA915A7A.html 

 

QUESTION 4

An administrator creates a custom ESXi firewall rule using an XML file, however the rules do not appear in the vSphere
Web Client. Which action should the administrator take to correct the problem? 

A. Load the new rules using esxcli network firewall reload. 

B. Load the new rules using esxcli network firewall refresh. 

C. Verify the entries in the XML file and then reboot the ESXi host. 

D. Remove the ESXi host from the inventory and add it back. 

Correct Answer: B 

Refresh the firewall configuration by reading the rule set files if the firewall module is loaded. 

Reference: https://pubs.vmware.com/vsphere-60/index.jsp?topic=%2Fcom.vmware.vsphere.security.doc%2FGUID-7A8
BEFC8-BF86- 49B5-AE2D-E400AAD81BA3.html 

 

QUESTION 5

Which three connection types are supported between a remote site and vCloud Air? (Choose three.) 

A. Secure Internet Connectivity 

B. Private Connect 

C. Direct Connect 

D. Internet Connectivity 

E. Secure VPN 

Correct Answer: ACE 
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The connection types supported between a remote site and vcloud Air is secure VPN, direct connect and Secure
Internet Connectivity. 
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